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Instructions to Candidate

»)

* There are EIGHT question divided in Two Sections.
* Candidate has to attempt FIVE questions in all

* Question No. 1 and 5 are compulsory and out of the remaining, three are to be attempted
choosing at least one question from each section.

* The number of marks carried by a question/part is indicated against it.
!
* Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
—~No marks will be given for answers written in medium other than the authorized one.

*  Word limit in questions, wherever specified, should be adhered to.

* Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-Cum-Answer bgbRlet must be clearly struck off.
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Attempt all questions: I
1. Comment on the following into 150 words: (20 x 5 = 50}
(@) Popularity and controversy has become two sides of Taylorism. Comment.
(b) Wilson’s work was seminal in the growth of the discipline of Public Adn"liix;\istratinn.
Comment. | :
‘(c) ‘Morale is a double edged sword. It can raise organisational effectiveness '5015' decrease
it’. Explain. . =
(d) Systems approach explains the intexplay of administrative phenomenon.' Comment.
- —(e) “The civil society has many faces’. Explain. | |
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2. Answer the following questions:

(a) Riggsion analysis of prismatic model is not c;nly relevant for develong' societies
but also for developed ones. Ana.l‘yse (250 Words) (20)

(b) Delivery of Policy is the cornerstone of Policy Analysis. Discuss. *
(150 Words) (15)

(c} Advent of E-Governance has altered the role of Public representatives. Comment.
(150 Words) (15)
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3. Answer the followfing questions:

the statement?

(b) Follet was an Idealist. Critically Analyse.

R

(a} The conceptual division between administrative and constitutional law is quite porous, |
and that along many dimensions, administrative law can be considered more
constitutional in character than the constitutional law itself. How would you justify |

(250 Words) (20)

(150 Words) (15)

(c} Public policy should be a synthesis of Ratioralism and Incrementalism. Analyse.

(150 Words) (15)
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4. Answer the following questions: N . i [ |
1

() Training is more of a junket than skill building. Analyse with refefence to India.
— ‘ (250 Words) (20)

(b) SHGs have acted as a catalyst for Women Empowerment and havei'brought Iatftitudimll
changes in the way society looks at gender issues. Discuss. (150 V\Tloi'ds) (15)
i

() Authority has mutated from the concept of domination to a shared value. Analyse.
(150 Words) (15}
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SECTION-B ' i |

L Attempt all questions: o

5. Comment on the following into 150 words: (10 % 5 = 50)

(a) Weber's “Iron Cage rationality” is manifested in E-Governance. Comment.
(b) Public interest cannot the sole criteria to evaluate public policy. Discuss.
(e} “Organisation is a set of Activities”. Comment (Bernard).

(d) Globalisation has brought with jtself the “Corporate state” and has replaced the,
traditional “welfare state”. Amnalyse.

(e} Marx viewed the bureaucracy as reflection of the nature of state. Comment.
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6. Answer the following guestions:

!
)
|
]

Politics and political p-rocess always makes the background for budgetary process.

Analyse.

(250 Words} (20) |

“Balance” between the state and market is the key to effective administration.

Discuss.

(150 Words) (15)

Heady's analysis of Comparative Public Administration is a rationalisation of multiple

states. Discuss.

(150 Words) (15)
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7. Answer the following questions: : - b

L}

(a) According to Y.Dror, The Science of Muddling thrqughfis essentially a reinfotcemnet
of pro-inertia and anti-innovation ideas in policy-making. Comment.
) (250 Words) (20)

(b} Discretion often comes as a limitation and concern in the smooth functioning of
Administrative Law. Critically examine. ' (150 Words) (15)

(c} Voluntary organisations fill a key governance deficit. Hence, helping bath the
government and the governed. Analyse. (150 Words) (15}
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| 8. Answer the following questions:

lines, where the lines run parallel to each other. Discuss.

I'1
| |

(a) The Concept of Governance theorjr and Governmentality broadly work on :ithe same

(250 Words} (20)

(b} Differentiation is a necessity in the globalised era. Critically Analyse. (Riggs)

(150 Words) (15)

(c) Public Choice Theory advocates ‘Steering’ and shuns ‘Rowing’ for efficient and
effective administration. Examine. .

(150 Words) (15)
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